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Answers written in the margins will not be marked.

Sectiom A (44 marks)

1. a) blary was the major shareholder ol a private limited company which operated 2 restavrant chain. She
plamed 1o clunge the Torm ol business ownership oo lisled company. List ONE sdvanuge snd ONE
disadvantage of the change. (2 marks)

(1] After opening some new restanrants, MMary found that the average cost of production of her company
had increased. Explain the change in average cost with ONE reason. {2 marks)

It'«.'l

There are two kinds of food deliverers: “riders™ delivering food by self-provided motorbikes and “walkers”
delivering food on foot. Why do “riders” vsually have a higher income per order than “walkers™  Sngeest
ONE demand-side factor and ONE supply-side factor to explain vour answer. {4 marks)

Angwers written in the margins will not e marled,
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Answers writlen in the marpins will not be marked.

i Beler to the following data abowl Counlry 4.

Wear A9 A0

Fer capita disposable income $ 15000 $ 20000

Gini coefficient (based on honsehald income) (151 (.56

Gini coefficient (based on household disposable income) .51 (b4

{a) State TWO reasons o explain why the increase in per capita disposable income may lead 10 an over-
cstimmation of the improvement in living standard ol Country A (2 meuls)

i) Based on household disposable income, did income ineguality of Country A improve or worsen in
2020 Bugeest ONE policy which may have caused such a change. (2 inaiks)

Answers written in the marging will nol be marked.

Angwers written in the marging will not he marled,
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Answers written in the margins will not be marked.

4, Country B and Country C are two larze open economies.  Facing a hwge visible trade deficit, Coontry B
imposes a per-unil @dll on goods oported [rom County C. Suppose Countty B's demand Tor goods
imported rom Counwy C is clastic.

ial With the aid of Fimme 1, explain how the tariff would affect the total expenditure of Country B on
2oods imporled [rom Country C. (6 inaiks)

i) “Devaluation of a country s currency against its trading partners” may have the same effect on imponts
as Ll Use Counlry B as an cxanple o justly s slalemaenl (2 marks)

) Apart [rom the elfect on the country's visible trade balance, explain ONE other eflect of devaluation
onils balance ol payinenls. (2 miks)

Firure 1: Goods imported from Country © by Country B

Price (inerms of Country B's curmeney)
M

e . .
0 F Chemlity of gooads inporied (o Country ©

Angwers written in the marging will not be marked
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Answers wrilten in the mareins will nol be marked.

Country 1 introduced a short-term capital gains tax (STCGT) on property market.

Cupilal gains (5)

STCGT rale (M)

[0k (00 or belowy

8

[CHEHDT o SO OCH)

I3

SO00T to 100 000

24

100001 or above

STCGT isatax on capital pains from the sale of a property beld for less than 1 vear.

A spokesmiam of the (ax departmend said thal 3 new compuier svsicm had been developed for STCGT,
Althongh the system cost more than 1 billion dollars, it allowed tax pavers to check and pay the amonnt
ol STCOT online casily.

{a)

()

Evaluate the pew 1ax in lerms of TWO principles oaxation pul lorward by Adam Smith (4 mahs)

“The introdoction of STCGT would nol relicve the problem of risimg properly prices,”
(his 1% 8 posilive slalcmenl or o normmiihve sllcmenl,

Explain whelher
(2 k)

Answers written in the marging will not be marked.
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6. i) ‘Dellation will eccwr i the amound of goods and services produced s growing [asier than money
supphy,” Explain this stalcment m lerms of the quaniity theory of money, 4 myrkes)

) I deation is expected. the real interest rale will be higher than the nominal interest rate.” Wy

(2 marks)
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Answers written in the mareins will not be marked.
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T, In o two=commtry=two-good madel, the outputs per umit of resources of both counnics arg as follows,

Rice (units)

Toys (units)

Comiry E

n

OR

Country F

5

R

[

(i) Assume the torms of (rade are that T omlof fce conbe exchanged For 2.2 unils of loys, Caleulale (he

pains from trade of EACH country when trading 1 unit of rice. Show yvour workings.

(b With reference to vour answer in part (a). defend the following statement, “Therg i shill a basis for
trade even if a country has no absolute advantage in produciog any goods.”

(4 marke)

(2 marks)

Answers written in the marging will not be marlaed,
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8. The following lable shows the balance sheel of a banking sysiean

Azscls (b million)

Loans

Eeserves

10i)
3000

The public initially holds $1000 million cash and the banks are fully loaned up.

{1} Calcnlaie the requited resenve malio,

) Suppose the public only wanls o hold 5400 inillion cash and deposits the remaining cash inla e
banks, Caleulate the maxamnm change i moncy supply, Show vour workings, (3 muirks)

END OF SECTION A

Linbilitics (% million}
Deposits J004)
i1 k)
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Section B (60 marks)

9. The Muinlind government introduced the Targeled Poverly Allevision Campaign CFF A8 f2: 35 155 in 2004,
After analysing the situations of people living in poverty, the govemment officials came up with tailor-made
measures. The following are two examples of the campaipn,

Examnple 1

A village in Sunmnan provines bas beaolilod paloml landseape. The governmenl of Y onnan
provinee promeoted the village to atract more travellers,  Apart from farming, the villagers
also sel up hosiels 1o serve wavellers [norder W car more icome,

{1} Reler lo Exnmple 1,

(1)

{11)

In which lypes of produciion did (he villagers engage aller ihe miroduction of the campaien?

Explain. 4 marks)

Explain how labour mobility of the villagers would be affected, (3 marks)

Examplc 2

The govermmenl provided unding and soviled priviawe Goms (o develop bydroclecine power
plants in six provinges (such as Hubei and Jiangxi), Such development would help improve
transporiation reization and flood prevention in the meal villages i these provinces.

{h) Reler o Example 20 With the iid of 3 diagran, explain how ageaeeale owpul in these six provinces
would be affected in the long o, (% marks)

Answers wrlion i the margins will nol be marked,
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100

The Olvimpic Cames aliract billions of inleroational ebevision viewers o walch the compolilions amaong
thousands of top athletes,

() Some reslannanis in shopping malls [od their businesses increase sharply when the malls broadcst
Olvmpic gvents. Explain how the broadeast of Olvmpic events may resnlt in a divergence between
private and secial benefits, i3 marks)

{h) Suppose the divergence noparl (a) docs cxist. How can markel mechamsm help reduce this
divergence? {2 marks)

Atfhletes compele m the Olympic Games with their suppor lcams consisting of sporl psychologisls, plysical
therapists, nutritionists, ete.

ich Which economic pringipls is illustrated in the abose practice? State TWO reasons why such a practice
can increase labour productivity. 3 meud.s)

Some professional athletes receive a monthly salary and share a proportion of the prize money whenever they
will in commpelilions.

id) Lnstead of paving the athletes a monibly rate only. explain why some comployers of prolessional athleles
nsc (he ahove wage pmyment anungemenl, (2 murrks)

Whenever an athlete wins a gold medal ina certain sporl there will be the lollowing phenomena: mone people
will start learning the sport. As a resuolt, there will soon be long quenes registering for courses inthe spott

{c) With the mid of o demand-supply disgram, cxplaim the above phenomens, (% murks)

Prolessional athleles osually stan their Tull-lime waining belore gradoating Irom secomlary school and hunee
to give up their stodics,

in Will the opportumily cost of being a professional athlcle be affected a0 the average income of
professional athletes increases? Explain, (2 marks)

Angwers written in the margins will not be marked.
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11 The Government lannched the Conswmiption Vo her Scheme in 2021 1o relieve the impact o COVID-17 on

[l Hong Kong sconomy.

Source A Sialistical data abowl uncrploy ment rale in Hong Kong

Unernplovmenl rale by previous industre
I}.-;'I
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% %’@
%7‘-3‘ *% %ii}

e Bl gccormmody ion and
(oo services indusiry

soofis s Public administeation, social
and personal services
industoe*
Allindusiries

FPublic admimsirtion, social
and persanal services inchude
education, human healih and
social work activities. ete.

Sowrce B; Anextract of information about the Consumption Voucher Scheme

ol $35 000 by instalments.

All Hong Kong permancnl residents amd new arrivals aged 18 or above, whoe comply with the ‘residing
in Hong Kong™ requirement. could register o reccive clecironic consumplion vouchers with a total value

Source C: Infprmation abool the Tour designated stored value [aeililies to receive the 55 000 conswinglion

veichers by instalmenis

consumngHion registerad

voucher nsers CUSIOMETS l."ﬂl_'i oy
$18 of stored
value

AliparTTK R ropus Tap & Go WeChat Pay ITK
== Al IC };__;'..1
Ao
x L ] 5
Alipay 1k o Welhat Pay =
Puhlic MATI. bus, wam | BT, bus, wimi Bus and mini bus Mone
transportation s and fermy bus and fery
with the above
pavinent facililies
installed
PromoLions L 5 e-coupons First 2 million 550 awarded when CCOHINS

using virlnal Tap &
Go Unionpay card for
the first transaction
with an wmmount equal
10 o lareer than $350

Angwers written in the margins will not e marlked,
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Source I Some reminders for the Consumption Voucher Scheme

- Consummption vouchers cannol be used in transactions soch as pay ments 1o the goverunent (2.2, Lax),
public philitics (c.p. clectricity charges), purchase of financial products (c.g. msummee), and direct
purchase from merchants located outside Honp Kong.

- There are deadlines for osing consumplion vonchers.

Sowmce o Some vigws on the Constption Voungher Scheme in Hong Kong

A Douwsewile L have spent moge than $3 000 as there are e-coupons [rom the stored value [acility
provider. A lol of promotions in Livge reail chains and malls have alse lenged
me o consume!

o,

A Tommer chelinog T hepve been Laid off and Tave stayed home for moniths, ™o one knows when the
restaurant travellers would be back. 1 hope that the Consumption Voucher Scheme will bring
7 more local people 1o spend on Food and beverage and the whole indosiry can
%-;:;i, survive the pandemic,  Otherwisz, many workers will be forced 1o leave the
y industry,
e LY

ot

A doctor working i | Resources should be allocated to the medical sector, instead of giving evervone an
4 public hospilil ciual amount under the Consumiption Yoncher Scheme, The public hospilals
lacked space. manpower and equipment even before the pandemic, Start building
new hospitals earlier so thal more lives could be saved.

{ah Befer to Source A

{i} Inowhich phase ol business cvele the Hong Eong cconmmy most likely was? Aparl [rom (he
change inunemplovyment rate, list ONE other economic phenomenan of this phase, (2 marks)

{ii) Why did the unemployment e of retail, accommodation and food services indusiry increase
Gister uane thil o public administralion, sociil and personal services ndostry doning the
pandemic? (2 marks)

) Relor o Soree B, Would the 85 000 disimbiied under the Consumption Voucher Scheme be included
in the calculation of govermment consumption expenditure? Explain vour answer, (2 marks)

{cd  Bascd on the mformation given in Source C, explaim with TWO reasons wiy the marliet of stored
value facilities in Hong Kong is NOT perdectly competitive. (4 marks)

) Referto Source T, Some citizens claimed, T would rather recerve $2 000 cash instead of consumyption
vouchers.” Lo terms of functions of money. explain such a claim with TWO reasons, (4 marks)

Angwers written in the margins will not e marlked,
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Far part {2), candidates are required to presant their answers in essay forme Criteria for marking will ineluce
nse of sources and ceonomic theories. relovant conlenl, Togical preseotalion and clarily of exprossion.

e} Suppose the Govermment plans w spend another sum of money w cope with the pandemic. The
[ollowing arc Dwo siggeslions.

scheme C | Thsimbute the sum of money using the same mcchamizm as the oxisting Congimmption
Voucher Scheme.

Scheme 11 | Spend the sum of money on building new hospitals and hiving addidonal meclical
sLall’

Wilh relerence o the above sources and voor own knowledge in Economics, discuss which scheme
the Government will prefer in order to achigve FACH of the following policy objectives respectively,

Objective 1. o relisve woemploy ment inan indusiey severely affected by the pandemic
Objective 2 o increase average libour produclivily
Objective 3 to Increase aggregate output (in the short ron and/or in the long mn)

(14 marks)
|Use a separale paragraph lor comparing the ellecis of the twoe schemes under each policy objective. |

Answers written in the margins will not be marked

2122-DRE-ECON 2-17 17

I Go onto the next r.lage>

Answers wrillen in the marging will not be marked.



"POLIFALE 3] TON [[Es SUIRIRNT )| 1

I LI SIDAMEIT

PATIETT 24 10T JTTA STTSTEUT ST UT USTT M SIMSTY

mraing will mot be marled,

!

Answers written in the m

18

2022-DEE-ECON 2-18



Answers wrilten in the mareing will not be marked.

Answers written in the marging will not be marled,

2022-DEE-ECON 212

19

Giex o0 o The next pag&>

Answers wrillen in the marging will not be marked.



"POLIEILE 3] TON 1A SUTSIRIT SN T T L4 SIDMEITY

PAITETT 24 10T T4 STTEIEUT ST U7 USTTTM SIOMSTY

Angwers written in the margins will not e marled,

2022-DEE-ECON 2-20



"POLIFALE 3] TONT 1A SUISIROT D[] 01 T LA SIDMEITY

PAITETT 24 10T T4 STTEIEUT ST U7 USTTTM SIOMSTY

Angwers written in the margins will not e marled,

IGDDI'ItUU‘IEI‘IE}ﬂpHQE>

2022-DEE-ECON 2-21



"POLIFALE 3] TONT 1A SUISIROT D[] 01 T LA SIDMEITY

PAITETT 24 10T T4 STTEIEUT ST U7 USTTTM SIOMSTY

Angwers written in the margins will not e marled,

2022-DEE-ECON 2-22



Answers wrilten in the mareins will not be marked.

END (OF PAPER

sources of malerials used in this paper will be acknowledged in the (IEOSE Opestion Papers booklel published by
(he Honge Kong Examimations ind Asscssment Authorily al a lafer siage,
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Supplementary Answer Sheet

Duestion Mo,

Answers written in the marging will not be marked.

2122-DRE-ECON 2-24 24

Answers wrillen in the marging will not be marked.





